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And he uses it both for 29y n»1w and also for 7yaw nR#W

OVERVIEW

The X m3 is searching for a Xin who disagrees with 17 (even if 1"p 779 &%). The
X713 assumes it is this X1n who derives N2 yon through a 1"p from a°1vp 7°38. The
result of this 1"'p is that N2 yo1 is X»v even for AYaw nXMv, and we do not say 1°7
that it should only be 27y nX»™10 XY, just as it is 27 DRMAIW XAL by 21. Our N1BOIN
discusses what is meant by saying a N2 y97 1s IV DRMAIV RN,

mooIn asks:
- ‘mpm 11900 DY Y57 NrYa NIV NYAY HNMIV N1NT NN

It is astounding! For what nyaw nXm»w is applicable to a y97», which cannot be

purified in a mp» -
- (3,79 97 naw) “N2YPY 539 P93 1ININTI
As the X3 states in ' pap?!

mMooIn anticipates (and rejects) a possible solution:
= 99INRP NYAY NRNIV )7 991D PN)

And we cannot answer that the X3 meant that it has the status of something

which is p12w nRRW KNV -
- “Ayay NNMIL XPVPY 937 1913 >ANPIVH AR NYIY Y5

Meaning that it becomes an 782177 2R as is the law regarding any object which
iS Yaw NRMIL NBw,

mooIN rejects this solution:
- (3,77 91 *P2975Y 9902 NOMTI NRMIVA AN DY PR “MIPNA 1IN0 1Y YT 113 XN

! Since it has no mpna 777w it cannot be xnv for (just) seven days (only), but rather once it is X»v it remains Xnu

forever. [Therefore it cannot also be 27y NXMY XAV, since it has no MpPna 77°Y. ]

2 We will cite the *"w there Mpna 77w 70 0 RM 11"7, who states: 7371 ,82°N2 171 DWOH2 DX NYID2 77720 22N °07

X7 X777 P02 7770 177 1991 39720 17 10990 RY ARMID 1YY oW 12021 ROW PV 093 uws Har 390w b 100% ann v2°naT ovha

77IN2 77°20 07 1177 KW D2 MPna TIY 077 PR ApwnY 22IRT 277 %3 3173 82°n3. According to Mvoin there is Mpna 77w

for y¥ %3 *vWwd, but there is no Mpn2a 777w for a yon made from reeds or grass (see later in this NoON).

? This would seemingly answer mooIn question. The X3 is asking why does this nna yon retain the status of an 2x

TRMIVA (to be 0°931 TR Xnwn), let us say 1°7 that it is Xnwn only as a XMWY PMWRI (which can only be 192I1X Knvn

Pwn) as is the rule regarding 29y nXnw. See ‘Thinking it over® # 1.

* Anything which is 7yaw nkmw Xmu (it touched a ni for instance) is an 07931 DX XvY ARMIVT K.

> See footnote # 2.

% There are two 0’109, in NP NWIS, one (10,°) states *¥*aw: 012 Wum (and he shall purify him on the seventh day)
1

TosfosInEnglish.com



NP1 A" 0N 2,00 pa 7o

For since the yo» has no mpna 79 v it cannot become an N2V 28, as is
evident in the end of 1°2317°» noon.

N1B0IN answers:
- 193 XPLY S0971Y ©X1NNN 7YY 299 SVIVAY 3311 3133 TN 9 INNT A YN

And one can say; that this 1"'? (from which we derived that a n»a yon is Rnv) is
also effective for flat wooden utensils which are set aside for ©97» that they too

are nna R»W -
= YAV NRMLY 1D SNMN)

And we use this 1" (regarding yv 22 *01wd) for 7waw nR®IW as well; proving that we

do not say 1°7 that the 1"p is effective only for 27v nX»1 and not for 7vaw nX¥M, just as 277 0717
is only for 27 nXMY, but not for AY2W NXML.

mooIn offers an alternate solution:’
= D499 Y92 Y999 NN ) ON

Or you may also say; the Xn>92 is discussing all types of mats -
- 300 N9V HY N9 P2 MPNA NNV 1Y WY XY YV X9 Pa

Whether a wooden mat, which has a mp»a 797v (and therefore eligible to
become an XMWT AX and be AYaw NXMY XnW), or whether mats made from grass
or reeds -

1Y YW N9 7599 NN 30N NOOY HY XONM 1099 (10 97 DAY NIVNIY
So in naw noo» he asks regarding a yo» from 23 9% that since it has no 777Y
mpna it should not become 07712 Xnv, and here the X9»» asks regarding a
wooden y27% (which has a mpna 777v), why is it 7vaw nxmw X7 (let us say 17).

SUMMARY
A von of 3 19w has no Mp»n2 777Y and therefore cannot become an XMV 2K and
7yaw XM cannot apply; however (a yon of) v¥ %5 *v1ws has a mpn1a 77w, becomes

and another 109 (22,0W) states 271 TV XN NYAIT WO RAL> XAV 12 Y2 WK 907, In >"wA there X2 7"7 he states: 2°n37
RNVN NYAIT WHIM 7°2 12 7727202 7770 % W7 WM 2 1P7 XA 5o A1 RAVT 12 YV WR 521 13 AW 312 IRLM "
VAT WHIM 2 1P Y IRV 1772 117 K97 K7 9.
T vy 3 vws according to nvOIN have Mpna 777v (not like *"w1 mentioned in footnote # 2) and therefore can
(become an RV 2R and) be VAW NRMIV KA.
% 077 refers to sitting or lying. These y¥ *22 *01ws were set aside to be used as a chair or a bed. Therefore they are
277 0772 DRMIV RNV,
? The difficulty with the first answer is that it seems awkward that the xn>72 is discussing one type of 157 only (not
vY %90 "vwn), and the question is from yy *93 *vwd which (although they can be derived from the same 1"p,
nevertheless they) are not mentioned in the &n>>72. The following answer removes this difficulty. See ‘Thinking it
over’ #2.
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an XMV 2R and is YW DRAW RAL.

THINKING IT OVER

1. Mmoo in the M7 PXY states that we should say 17 that it should not be
considered an ¥ 28.'0 Seemingly the X of the yon that it is 212 Xnvn, means
that it is 2177 071722 XMW, the rule is that whatever becomes 2177 07712 XY (its 20wWn,
etc.) 1s an XMV AR, so where is the 177 here?!"!

2. What is the advantage of the first answer'” over the second answer?

10°See footnote # 3.
' See 7m0 *won R # 90.
12 See footnote # 9.
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